JL_

Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
1
1) 98 2) 3.151 3 959 4 7.851
_ 3 - 400 - 311 -2 .
3
4
5 2.420 6 569 7 89 8 451 >
- 2 - 43 - 40 - 8 6
7
8.
9 4.500 10 87 1) 2,181 12 4.319 0
- 94 - 7 - 26 - 832
D — _ — 10.
11.
12.
13) 902 14) 7.831 15) 82 16) 83 13.
- 99 -6.193 -47 -67
- - T o 14.
15.
16.
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- 51 - 84 -3.799 - 133
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Subtraktion (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1, 95
1) 98 2 3.151 3 959 4 7.851
- 3 - 400 - 311 -2 o, 2751
95 2.751 648 7.849
3 648
4 7.849
5 2.420 6) 569 7 89 8 451 > 2418
-2 - 43 -40 - 8 6. 526
2.418 526 49 443
7 49
8 443
9 4.500 100 87 1) 2.181 12)  4.319 o. __ 4406
- 94 - 7 - 26 - 832
D — —_— — 10. 80
4.4006 80 2.155 3.487
11. 2.155
12, 3.487
13) 902 14)  7.831 15) 82 16) 83 13. 803
- 99 -6.193 - 47 -67
803 1.638 35 16 . 1638
15. 35
16. 16
17)  8.942 18) 546 19 9.256 200 4,122 7 8.891
- 51 - 84 -3.799 - 133
8.891 462 5.457 3.989 18. 462
19. 5.457
0. 3.989
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
2.155 95 7.849 2.751 526
648 3.487 2.418 80 4.406 1.
443 49
2.
1) o8 2 3.151 3 959 3.
- 3 - 400 - 311
— - 4.
5.
6.
7.
4 7.851 5 2.420 6) 569
- 2 - 2 - 43 8.
9.
10.
11.
7 89 8 451 9 4.500 12
- 40 - 8 - 94
100 87 1) 2.181 12)  4.319
- 7 - 26 - 832
Geandert 1-10 | 9283 75|67 [58[50] 4233|2517 |
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